DocTtynHbl 2D-3D yepTexu

Basic Gearbox
BasoBebii pegykTop

px22sC...

Mort.cpnaH. Kog.komnn | oF A
63B5 | K050.4.041| 138 |152.5
71B5 | K050.4.042| 160 |150.5

18

56B14 | KC40.4.049| 80 | 152
63B14 | K050.4.047| 90 |154.5
71B14 | K050.4.045| 105 | 152

104

CraHOapTHbIN

|47.5]| 2.5 4 oTB. M6X12 70

Mounting holes

position
Monoxexne . On request
475 25 MOHTa)H.OTBEPCTWI Mo anpocy
Feet Output flénge A
PX22$"-N" Tanbl PX228-F0" BbixoaHow cdonaHew

koA komnn. KX2S.9.010

o]
- &
| % <
_hJ [ hJ /S')
Ry I — \
o{- -0l .
1=0T i
e 26.5
1.9
50 110
Output flange Reaction Arm
px22s-F1. Px22SBR.. ¢ o wraa

* BbixoaHow cdnaHel

kog komnn. KX2S.9.011 Kog komnn. KX2S.9.027

7 J._4

- F\put shaft Single shaft
RXZZS BxopaHou Ban PXZZS"A" OpOHOCTOPOHHWI Ban
| 146 koa komn. KX2S.5.028
M5X13 2 6
5

%

20.5

Etﬂ 914 j5 |

68

M8x20




DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PXSZSC = ba3soBblii peayKTop
Mor.cbnaH| Kog.komnn. | gF | A oF ) A 63
63B5 | K063.4.041| 140 | 184 r's [
71B5 | K063.4.042| 160 | 182 ©
80/90B5 | K063.4.043| 200 | 184 N L E\ﬂ(
[ 238
; s
71B14 | K063.4.047| 105 | 182 —— @ I
80B14 | K063.4.046| 120 | 183 ] %# ™
90B14 | K063.4.041| 140 | 184 :—‘ﬂzzﬁa 1
88
4 otB. M8x15 =
//?\\
A
\I ’
Mounting holes
position
MonoxeHne
MOHT&)XH.OTBEPCTUN On request
Mo 3anpocy
Output flange Q
px32s=-F1.. oo P J

* BbixoaHoii onaHel
koA komnn. KX3S.9.010

Y,
|- 00
o L
N~ Tk p—
7
120
F2 Output flange A N BR Reaction Arm
PX32S= ** BbIXofHOl cpriaHeL PX328 ** PeakTuBHas wraHra
koA komnn. KX3S.9.011 ‘ kog komnn. KX3S.9.027
7
% 11
— a (@),
9 5 110
160
X32S... Input shaft Single shaft
R BxoaHow Ban PX328"A" OpOHOCTOPOHHWI Ban

M5X13 l< 146 |
25

26

N

22

dl [b1/c1| e1 lm1| n1 | t2 o1 @ «op komnn.
3209 6 37.5 40 | 120 | 140 |22.5 M8x20| KX2S.5.028
22590 8 |60 | 63.2126.8 190 | 28 |M8x20| K063.5.028

1-8



DocTtynHbl 2D-3D yepTexu

Basic Gearbox
Basosebiii peaykTop

Px33sC...

Mort.dnaH. Kog.komnn. | gF A
63B5 | K050.4.041| 138 |187.5
71B5 | K050.4.042| 160 |185.5
0
56B14 | KC40.4.049| 80 | 187 3
63B14 | K050.4.047| 90 |189.5
71B14 | K050.4.045| 105 | 187 .
CraHOapTHbIN
//?\\
e
N X
Mounting holes
position
Monoxexve On request
MOHTaXH.OTBEPCTUN Mo 3anpocy
Output flange N
Px33s-F1 —y o

** BbixogHown pnaHed,

kog komnn. KX3S.9.010

7,
%

120

Output flange T Reaction Arm
2 VP g px33sBR..

BbixogHou cnanew, PeakTnBHas wraHra

px33s-F

koa komnn. KX3S.9.011

ko komnn. KX3S.9.027

le) | e} - E—
© & 9
© : © ]
o ! o
@ . ©
<5
N Inptﬂ shaft Single shaft
RX338"' BxoaHou Ban PXSBS"A" OfHOCTOPOHHWI Ban
M5X13
5
—>n<—
©
914 j5 2

dl [b1/c1| e1 lm1| n1 | t2 o1 @ «op komnn.
3209 6 37.5 40 | 120 | 140 |22.5 M8x20| KX2S.5.028
22590 8 |60 | 63.2126.8 190 | 28 |M8x20| K063.5.028

1-10



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PX42AC = ba3soBblii peayKkTop
. A 70
Mort.conaH} Kog.komnn. | eF | A ‘
63B5 | K063.4.041| 140 [199.5 ©
71B5 | K063.4.042| 160 |197.5 - = =
80/90B5 | K063.4.043| 200 [199.5 N — : P ) -
_ / @ 7 ,:r K
71B14 | K063.4.047| 105 |197.5 ‘ - ~
80B14 | K063.4.046| 120 |[198.5 k = |
90B14 | K063.4.041| 140 |199.5 :'EM CrgiapTiRg
100/112B14] KC40.4.041| 160 | 235 100
4 otB. M8x15
0 3 /?\
o -— @
\\ |.//
Mounting holes
position
[MonoxeHune On request
MOHTa)KH.OTBepCTVIVI Mo 3anpocy
Feet Output flange7 Q
Pxa2A=N.. [~ Pxa2a-F2.. ¢, o o dmaren
0 kog komnn. KX4A.9.010
o)
Q
0P o)
|
e o] o
L — ,,:,,, - ‘9
| lo! o] 8‘
|
O_© ; ©-O ,
37.5 _,I_ 29.5 9
. 75 50 160
100
Output flange N Output flange
PX42A'F3.. BbixoAHOI chriared PX42A-F4" BeixozHom dnaey
koa komn. KX4A.9.012
kon komnn. KX4A.9.011 110
7
\ % ,
© 1 © o
] o
@ 7}7 u
L © ! ©®
|
= o i 0°
S
200
I |
N Inptﬂ shaft Reaction Arm Single shaft
RX42A"' BxoaHou Ban PX42ABR" PeakTtuBHas wraHra PX42A"A" OfHOCTOPOHHWI Ban
190
M5X13 >
25
5 [ — -
-PI—I‘— °
© -7 ;
FIEERS RS I ‘
:¥
22

1-12



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PX43AC = ba3soBblii peayKkTop
) A 70
Mort.cpnaH. Kog.komnn.| oF A |
63B5 | K050.4.041| 138 | 203
71B5 | K050.4.042| 160 | 201 P R =
oo'I’ i hd P
- A
56B14 | KC40.4.049| 80 |202.5 w0 8 @ R o
63B14 | K050.4.047| 90 | 205 m H I o ~
71B14 | K050.4.045| 105 |202.5 L ~
E@M CraHgapTHbIi
4 otB. M8x15 100
//?\\
& -— @
\\|'//
Mounting holes
position
MonoxeHwue On request
MOHTa>KH.OTBEPCTUN Mo 3anpocy
Feet Output flange7 Q
PX43A-N" TNanbl PX43A-F2" BbixogHon cnaHew,
© koa komn. KX4A.9.010
‘ o
Q
© ! © o _ __
o o] o
_ :k,, | }> o
© ! ©_| 8 -
| r
Plo | olf s
37.5 29.5 9
75, . 86.5 160
Output flange AN Output flange
pxasa-F 3., Py end pxa3a-F4.. o PY "end

BbixogHou conaHew

kon komnn. KX4A.9.011

¥
1:"0“
51.8

2

ESN

Gi
121.5

lﬂi@)_l%l‘i
©_© l
[  Tolg

©
®

©
)
I

22

BbixogHou cdonaHew

kon komnn. KX4A.9.012

7
&
&)
11
|
200
I 1
N Inptﬂ shaft Reaction Arm Single shaft
RX43A BxoaHou Ban PX43ABR" PeakTtuBHas wraHra PX43A"A" OfHOCTOPOHHWMI Ban
2"5)(13 190
2 N
© TP & ’ SR

|
© 1 ©
1

! ©
|

© 1 ©

110

89.5,
169.5

1-14



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

176

80

CraHpapTHbLIN

On request
Mo 3anpocy

koa komns. KX5A.9.010

L]

koA komnn. KX5A.9.012

L]

Single shaft

OfHOCTOPOHHWI Ban

Px52A.A..

PX52AC = ba3soBblii peayKkTop
| A 80
Mort.conaH. | Kog.komnn.| gF | A
71B5 K023.4.041/ 160 | 234 ‘
80/90B5 |K023.4.042|200| 236 < —
100/112B5 |K023.4.043| 250 | 242 ™ e '
80B14 |K085.4.046|/120| 234 . @ )
90B14 |K085.4.045/140| 234 ; ; f
100/112B14|K085.4.047| 160 | 245 k:K F\ /
4 ots. M8x15 115
60,]_ 3 9
*--o
\\|'//
Mounting holes
position
MonoxeHue
MOHT&>KH.OTBEPCTUN
Feet Output flangei
Px52A=N.. [~ PX52A=F2.. ¢, o o domaren
[te}
o)
Q
0P o) — 7 =R
| 7'.:77 —
e i @] X5 ‘
P = | : 8
! ® ‘ of T
T |l ©
2o : ol —L:, ; . H
45 _»I_ 29.5
120 ~
Output flange | - Output flange
PX52A-F3" BbixogHou cnaHew, PX52A-F4" BbixogHon cnanew
kop, komnn. KX5A.9.011 130
7
\ & ‘
| © : ©) o
L © | ©
N @ -
L © : ©]
= o o
S
200
N Inptﬂ shaft Reaction Arm
RX52A"' BxopHon Ban PX52ABR" PeakTuBHas WTaHra
) 226.5
M5X13  5q
8 —
R%:ﬁ - .
< * @
- o o vT [
224 h ~ | 7
:¥

1-16



OoctynHbl 2D-3D yepTexu

Basic Gearbox

PX53AC = ba3soBblii peaykTop
) A 80
Mot.conaH| Kop.komnn., @F A oF |
63B5 | K063.4.041| 140 | 246
71B5 | K063.4.042| 160 | 244 —L [~ A 2 Q
80/90B5 | K063.4.043| 200 | 246 = N 2 : - ) -
ITo) . @ . o <
71B14 | K063.4.047 | 105 | 244 2 A i I o T
80B14 | K063.4.046| 120 | 245 - EE\;\J ﬁé @© _
90B14 | K063.4.041] 140 | 246 — CrahnapThb I
4 otB. M8x15 115
<3 O
& -— @
\\|'//
Mounting holes
position
MonoxeHune On request
MOHTaXH.OTBEPCTUIA Mo sanpocy
Feet Output flange7 Q
PX53A-N" TNanbl PX53A-F2" BbixogHon cnaHew,
koa komns. KX5A.9.010
© ! © o ___ - __
©) : Q|
Rkl
ONNc/I
|
Plo | olf
S [ 45 9
.90
160
Output flange N Output flange
PX53A'F3.. BbixoAHOI chriared PX53A-F4" BeixozHom dnaHey

kon komnn. KX5A.9.012
koa komnn. KX5A.9.011

7
&
X
&)
|
200
N Inptﬂ shaft Reaction Arm Single shaft
RX53A"' BxoaHo Ban PX53ABR" PeakTtuBHas wraHra PX53A"A" O[HOCTOPOHHWI Ban
2"6X16 - 2365
0 7~ N
= — = . © 10
“Ei BTN ﬁﬁ Eh o of]
219 h6 O —— ||I I||
| © © | ) : o |
i ‘g ol o i o

M8x20| 68 | 134
202

1-18



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PX62AC = ba3soBblii peaykTop
\ A 90
Mort.comaH.  Kog.komnn.,| gF | A
71B5 K023.4.041| 160 | 253 ‘
80/90B5 K023.4.042|200| 255 o —
100/112B5 K023.4.043|250| 261 el || ® P
_ X6A ;
N
80B14 |K085.4.046|120| 253 . @ ) ®
90B14 |K085.4.045/140| 253 k : ! _/ 8
100/112B14/K085.4.047| 160 | 264 X F\ / CraHpapTHbIN
132B14 |KC50.4.041| 200 |282.5)
4 oTB. M8x20 115
70 _ 3 /?\
*--o
\\|'//
Mounting holes
position
Monoxexne On request
MOHTaXH.OTBEPCTUN Mo 3anpocy
Feet Output flangei Q
Px62A=N.. [~ Px62A=F2.. ¢, o o domaren
0 kog komnn. KX5A.9.010
o)
[
0P o) — P wiR —
_©3©_ 7,XM ——O —
_ 771&77*7 [ — ° ,, Py ‘(E [ —
r A e S —
| L] -
Tle i ol R
45 _»I_ 29.5 9
.90 60 160
22 120
Output flange AN Output flange
pxe2A-F 3. oo Py 1ang pxe2A-F4. 24Py rand

BbixogHou conaHew, BbixogHon cnaHew,

koa komn. KX5A.9.012

kon komnn. KX5A.9.011 150
7
\ & ‘
= | BAE —
X ©]© ]
] — *@ T ] —
L © : ©]
- 51 6° L
RIBEE
200
I 1
N Inptﬂ shaft Reaction Arm Single shaft
RXGZA"' BxoaHou Ban PX62ABR" PeakTtuBHas wrtaHra PX62A"A" O[HOCTOPOHHWI Ban
) 246.5
M5X13 5
8 —
O .
> OT !
224 h6 ~ | -

¥

M8x20(73.5, 170

230.5

1-20



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PX63AC = ba3soBblii peayKkTop
) A 90
Mot.donaH. Kog.komnn.| oF A |
63B5 | K063.4.041| 140 | 265
71B5 | K063.4.042| 160 | 263 — *:H‘. \
80/90B5 | K063.4.043| 200 | 265 2 — : P ) -
gy 5 N
71B14 | K063.4.047| 105 | 263 A 1 I o =
80B14 | K063.4.046| 120 | 264 — EE\;\J ﬁé > !
90B14 | K063.4.041] 140 | 265 ~= Crannaprri
4 oTB. M8x20 115
//?\\
& -— @
\\|'//
Mounting holes
position
MonoxeHwue On request
MOHT&)H.OTBEPCTUIA Mo 3anpocy
Feet Output flange7 Q
PX63A-N" TNanbl PX63A-F2" BbixogHon cnaHew
kog komnn. KX5A.9.010
© ! © o ___ - __
©) : Q|
_si |
© ! e |
|
Plo | olf
Sl 45 9
90 60
< > 101
22 120 = 160
Output flange AN Output flange
PX63A'F3.. BbixoAHOI chniared PX63A-F4" BeixozHom dnaHey

kon komnn. KX5A.9.012
kon komnn. KX5A.9.011

7
&
X
&)
200
N Inptﬂ shaft Reaction Arm Single shaft
RX63A"' BxoaHou Ban PX63ABR" PeakTtuBHas wraHra PX63A"A" OfHOCTOPOHHWI Ban
Mex16. . 255.5
6 <
[To]
Efm =l P o
=2 | o1 o]
19 h6 1 ' ,,é,;f,é,,
= ‘ i&l RNE
N © | ®
735, 170
230.5

1-22



ACCESSORIES AND OPTIONS / MPUHAANEXHOCTU U Oonuuu

AC Tun AD
X22S | 25x40x7 O
/ X32S | 35x47x7
X33S | 25x40x7
X42A | 35x47x7
-®
X43A | 25x40x7

Double input seal. Gearbox lubrificated with mineral oil and breather plug.
[IBoiiHOEe BXOHOE YNNOTHEHME. Cmazska pefyKTopa OCyLLEeCTBSIETCSA NpW NOMOLLM
MVHeparnbHOro Macna Yepes BEeHTUNSALMOHHBIN TTHOK.

AH 1 2 AE Tun
1 2 X22S [32006X(32006X| X22S 30x55x7
\ / X32/3S/32008X|32008X] X32/3S| 40x68x7
X42/3A32009X|32009X X42/3A| 45x75x8
X52/3A[32010X|32010X X52/3A | 50x80x8
X62/3A|32011X]32011X] X62/3A| 55x90x8

Only for X52/3A The oil
seal protrudes 1mm.
Tonbko ans X52/3A
CanbHVKOBbIE YNNOTHEHUSI
BbICTYNaT Ha 1MM.

Output shaft Viton oil seals.
CarnbHUKOBbIE BAUTOHOBbIE YNIIOTHEHUS
BbIXOZHOrO Bana.

[MoaWmMNHMKM C KOHNYECKUMU ponukammn

Taper roller bearings on the output shaftJ
Ha BbIXOAHOM Bbiry.

MM

AK TS (Hwm)
oAH7 | @BH7| C D E F TS Nm
o < X228 20 |20.05 | 20 80 20 82 6
5‘{ E X32/38| 20 |20.05 | 20 102 20 92 6
X42/3A| 30 |30.05 | 35 645 | 35 90 14.5
E B c X52/3A| 35 |35.05 | 40 77 40 105 | 14.5
N 1 X62/3A| 40 |40.05 | 45 88.5 | 45 115 | 145
The mounting is possible only on the right side.
MoOHTaX MOXHO OCYLLECTBNATb TONbKO C NPaBON CTOPOHbI.
Dimensions and tightening torque (TS) for the shrink disc.
Pa3smepsbl 1 Bpawatowmii MoMeHT 3aTskkn (TS) Ana orpaHMunTens MOMeHTa.
AP Koa komnn. AR o H7
X22S | KX2S.0.209 X22S 220
X32/3S | KX3S.0.209 X32/3S| 020
X42/3A | KX4A.0.209 X42/3A| 225
X52/3A X52/3A| @30
KX5A.0.209 @I
X62/3A X62/3A| @35
Protection cup. Stainless steel hub only on request for quantity.
lMnactukoBas 3arnyLuka. Bryrika us HepxagetoLLiei ctarm. MuHMmanbHas

napTus npu 3akase 10 WTyK.





